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Application GGuide

1. Write the elements of each set.

B = {do, re, mi, fa, sol, la, si} SF}

2. Read the clues. Then write the children name inside the circle where he belongs.

A B
* John belongs to A
* Sam belongs to A
+ Natalia belongs to A
* Cristina belongs to B
* Fred belongs to B
* Mary belongs to A

TN




3. Binds with a line, each set corresponding to the subset.

Cet

Subset

A = {Letters of the word bat}

F={m,r, g, t}

B = {Odd numbers less than 100}

G =1{5, 15, 25, 35, 45}

C = {Consonants of the word Margarita}

H={a, e, i, 0, u}

D = {Odd numbers ending in 5 less than 50}

| = {35, 55, 75}

and less than 100}

E = {Numbers ending in 5 greater than 20

J=1{5,17, 25, 37,97}

4. Watch the whole. Then complete.
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6. Since the set find the intersection.

S':{aa bs C, d}

T= {as e, is 0}

X ={m,n, o, p}

Y={0,p,qG, T, 8}

7. Look at the list of customers who rented movies during the day. Then answer.

What customers rented adventure and comedy movies?
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A NC={ }

What customers hired comedy and suspense movies?

cNs={ }

What customers rented thrillers and adventure?

SNA={ }

What customers rented thrillers, adventure and comedy?




Represents the set and the corresponding subset.

A = {birds}; B = {oviparous} M = {mammals}; V = {Vertebrates}
U
R
I = {insects}; B = {oviparous} Complete here the representation of

subsets: A, B, M, V, I.
R = {reptiles}.

Congratulations!







